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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any ten of the following as directed :
1x10=10

oo TRIAIRA R (I b fter i T e -

(a) State whether ¢ (sigma) is a population
parameter or statistic.

o (sigma) SHfRers 2ibel (F 2Afonfe TS I |
(b) What is coefficient of variation?

2PTeR STRel % 2
(c) Define equally likely cases.

SRR G0 ke e |
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(d)

(e)

(9)

(h)

0

A23/180

(2)

If A and B are two independent events,
P(Au B) = P(A)+ PB)- PIANn B).

(Write True or False)

WA AF B P TFOF WAl [, (AT
P(AU B) = P(A) + P(B) - P(A B).

(om 7 =g, forsn)

What is meant by probability
distribution of a random variable?
I vore TRl 35+ Jfereet 6 oy 2

What is the difference between the

variances of Binomial distribution and
Poisson distribution?

ﬁvmw*w%a%aa R 12 5 9

What is marginal probability.
distribution?

Aifes eI 35+ & 2

Define purposive sampling.

SRS AfonEe e fa |

Mention two methods of random
sampling.

o2 eAfSb5ma o1 “rfs T 4 |

If r=0.9, interpret the result.

3t r =09 =, T w1 R g 2

( Continued )

(k)

)

(m)

")

(o)

@)

@

A23/180

(3)

What is the relation between mean,
median and mode?

o, W SF T ot 12

Define conditional probability.

e SEIRIeT kel ford |
_2f
Al Sy

(Write True or False)
fx
EX)= —ZJ—V‘

(v 1 Srem o)

Write the probability distribution
function of Poisson distribution.

o 5 TSRS I FeICol fors |

If two values of a variable in a series are
equal, how is the rank determined?

1ff @B T TR O T GCF W (SR
S @ (T R =2

What is scatter diagram?

o1l o 76 2

Define covariance.

SEepTRes TRl r |

( Turn Over )



(4)

(r) Show that E(c) = ¢, where cis a constant.

(ST A E(Q =c, TS cF b1 597 |

2. Answer any five of the following questions :
[ 2x5=10
o [ PIee #Aivbt e Teg fyey

(@) Distinguish between arithmetic mean
and harmonic mean.

WWWWWWﬂW%?

(b) If the values of a variable of a series are

multiplied by a constant, what will
happen to standard deviation?

ﬂﬁaﬁwwﬁrﬁwwm
R REEE|
W,Wﬁwmmﬁ@@? 5

(c) Under what conditions

nde : binomial
distribution tends to Poisson
distribution?

REREAR 767 S fopm BT o I
B 37 2

]
(d) A card is drawn fro
m a pack
suffled pack of cards. 55 Sl

probability that it is eith
spade?

Qﬁmcﬁﬁﬁawﬁuﬂ?ﬁ

5 5s
Wﬁ?w%ww\ﬂé’gm
o : e

?

What is the
er a king or a

A23/180
( Continued )

(e)

(9)

(h

()

0)

A23/180

(S)

Write two demerits of systematic
sampling.

TfoTe Ao ‘@Tﬂﬁﬁﬁﬂ‘&’fml

Distinguish = between  linear and
non-linear correlation.

Re AE IF TRTTI A AL s |

If the first quartile (Q;) =30 and third
quartile (Q3)=35, find -coefficient of
quartile deviation.

M 4A9 ST (Q)) =30 HF Torn v
(Q3) =35, (OCTR'te B 3725l Tferea |

Write two properties of Poisson
distribution.

o5 %+ o1 & fora |

Mention two variables whose correlation
coefficient is zero.

Gz O BT T A1 AN DATFE 25 I
A | |

What is moment?

g4 5 2

( Turn Over)




(6)

3. Answer any four of the following questions :
- ‘ 5x4=20
o {7 CRIeTl DIkt e e forey -

(@) Show that standard deviation is

independent of chan ioi
ge of o
P rigin but not

(b) There are 3 economists, 4 engineers and
2 statisticians. If 3 bersons are chosen
at rand.om for formation of a committee
What s the probability that in th-
committee there wil] he )

() one from each profession:

(i) 2 economists and 1 statistician:

(i) all engin
gineers? RN

S T SRR, 4 o g e 2 o

SUSC T
A | Ao OO b i o

() =cere

2

RGN R TR

SIF g g
e s AR

(i) 3 W ST o g G

0
A23/ 18 ( Continued )

(c)

(@

Player

T

A
B

A23/180

(7)

Prove that
E(aX £ bY) = aE(X) £ bE(Y)

o9 T4 &, E(aX + bY) = aE(X) £ bE(Y).

What is skewness? Determine Karl
Pearson’s skewness from the following :

Size S vial 2 SELE
Frequency : 12 8 20 7 13
el 592 82[T SIEFIR=T *[/1 Il (e

el Sfere |

Describe briefly different steps involved
in sample survey.

s SR O wive Rfeq /R oie
el 41 |

In a 5-match one-day international
series involving India, two veteran
batsmen made the following scores :

SRS TR (T A SR R ¢ ¥
(TS [3 TF (IORCAC RAR FA AR ©©
GIRAEEE

Score
I+
1st ODI 2nd ODI 3rd ODI 4th ODI 5th ODI
5 120 15 95 25
46 69 80 65 45

( Turn Over )



(9)

A23/180

(8)

Identify the better batsman and more
consistent batsman in the series

RIS e OO AR &
TS @O %9 forres <7 | il

Income of a group of 10000 persons

were found to be normally distributed

with mean ¥520 and stang; i
ard i
is €60. Find— e

() the number of person

! S havi
Income between ¥ 400 an i

y d ¥550;
(ii) the lowest income of richest 500

€a between z = 0

and z=1.645 ig 0-4500 and the areg

between t =0 and t =

CoTIRT 31y | e olg
() T R4 g

¥ 400

KIS 51 1% 550

@) T g oy S00 R feerw

O T ey S 1 - m e

i(OSZSO-5)=0.1915 .
O<z<1.645 ,
=0-4500

P(OSZSQ)=0.47725 T

{ Continued )

4. Answer any four of the following questi

2is 0-47725. )

oo R G B! e T T

Why is arithmetic mean known as ideal

ge? State and prove the properties
2+8=10

(@)
avera
of arithmetic mean.

s ve R ol s g G A
AR 157 CAREPTR TS A 2T T

(b) Show that AM>GM =HM. Calculate

mean and standard deviation from the
following table : 61A=10

e I AM 2 GM > HM. O3 SIFFe
oo S T ({077 TS :
09 10-19 20-29 30-39

CI
G
f‘ri? quency 25 39 23 14
R
State and prove addition theorem of
(c) e ability when the cases are mutually
pxclusive- From a bag containing 4
:vhite and 6 red balls, 3 balls are drawn
at random. .
(i) Find the expected number of whité
palls drawn. \
i) Find the expectation of drawmfsig=1o
g Jeast 1 red ball. £
( Turn Over )
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Q)

(e)

A23/180

(10 )

’@rﬁmmﬂawﬁwﬂ@wmqw?iﬁ, »_
A 1 AR R =1 B @ 4575
I A 651 81 71 CR | 367 91 SO A |

(i) 351 I IR AR erem Sfereay |

(i) FICHS 151 61 I IR AT 2Fegpa
Tfene |

Derive the mean and variance of
binomial distribution. On an average
2% of population in an area suffer from
TB. What is the probability that out of 5
persons chosen at random from this
area, at least 2 persons suffer from TB?
6+4=10

faem Rowem o5 e epRe Sfevear | a3 Iz

TS RO 2% T[T T/ =0 | O I3 o
M S WR ATEE I’ @O,
CSTR'T IACHS 2 & WeRd IH @ER
SFeifes] e 2

Distinguish between sampling error and
non-sampling error. “Sample survey is
advantageous than complete
enumeration.” Explain . 5+5=10

e & oIe wefeom @y e N2l
| et AW et et i
SRS 177 W 7017 |

( Continued )

( 11 )

Write short notes on stratified sampling
and purposive sampling.
g AferT IF SR AferTd e
o (o for |
are the underlying assurnptioTls of
4 ;]{Vh?t Pearson’s correlation coefficient?
Fiar:d Karl Pearson’s : correlation
coefficient from the following :
o fPrEe RER RN RS
SfoqRaPTR Rl | oo OIfreR R e
(ot T R e :
23 30 35 28 41 45 53

5+5=10

Age of husband
er::;ﬂunfe 20 D3 28e7 85 84 -43
ﬁa?B—I,Ifnterpret the result. 10
Fae A0 *90
(h) State and prove the properties of 8
| correlation coefficient.
oA ST (AFEER TE WA T T
(i) Explain the main properties of normal Iy
distribution.
el G 47 CIPTBPTR CoAT 1 |
() Show that in Poisson distribution, mean s
is equal to variance.
o1l 91 G < B STE IF PR A K |
* % %
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